



Faculty Of Engineering & Architecture

Academic Year: 2019/2020 **Semester:**
4

Faculty: Engineering & Architecture (Civil Eng.)

Batch No. :3

Course Title: Numerical methods **Course code:**
MAT221

Lecture Title: Non – linear algebraic
equation

Lecture No.:8

Course coordinator: Dr. Ibrahim
M.Ibrahim

Contact: 00249917066160 –
ataalmanan@yahoo.com

1- Newton method

- Newton method also called the Newton – Raphson method
- The Newton method is faster converges than the other method
- To find the root of $f(x) = 0$, a starting guess x_0 is given
- The formula :

$$x_{i+1} = x_i - \frac{f(x_i)}{f'(x_i)} \quad \text{for } i = 0, 1, 2, \dots$$

Example

Find the Newton method formula for the equation $x^3 + x - 1 = 0$ $x_0 = -0.7$

Since $f'(x) = 3x^2 + 1$, the formula is given by

$$x_{j+1} = x_j - \frac{x_j^3 + x_j - 1}{3x_j^2 + 1}$$
$$= \frac{2x_j^3 + 1}{3x_j^2 + 1}$$

Iterating this formula from initial guess $x_0 = -0.7$ yields

$$x_1 = \frac{2x_0^3 + 1}{3x_0^2 + 1} = \frac{2(-0.7)^3 + 1}{3(-0.7)^2 + 1} \approx 0.1271$$

$$x_2 = \frac{2x_1^3 + 1}{3x_1^2 + 1} = \frac{2(0.1271)^3 + 1}{3(0.1271)^2 + 1} \approx 0.9577$$

These steps are given in the following table:

i	x_i	$e_i = x_i - r $	e_i / e_{i-1}^2
0	- 0.7000000 0	1.382327 80	
1	0.1271255 1	0.555203 00	0.2906
2	0.9576781 2	0.275350 32	0.8933
3	0.7348277 9	0.052499 99	0.6924
4	0.6845917	0.002263	0.8214

	7	97	
5	0.6823321	0.0000004	0.8527
	7	37	
6	0.6823278	0.0000000	0.8541
	0	00	

Newton – Raphson algorithm

To find a solution to $f(x) = 0$ given an initial approximation x_0

Input: initial approximation x_0 :
 tolerance (tol): maximum number of iterations N_0

Output: approximate solution (x) or message of failure

Step 1 : set $i=1$

Step 2 : while $i \leq N_0$ do steps 3-6

Step 3: set $x = x_0 - f(x_0)/f'(x_0)$ (compute x_0)

Step 4 : if $|x - x_0| < tol$ then

Output (x) ; (procedure completed successfully)

Stop .

Step5 : set $i=i+1$

Step6 : set $x_0 = x$ (update x_0)

Step7 : output (method failed after N_0 iteration)

Stop



Exercise

1-Show that $f(x) = x^3 - x - 1$ has exactly one zero in the interval $[1,2]$. Approximate the zero to within 10^{-2} using the bisection method

2-Use the bisection method to find solutions accurate to within 10^{-2} for $x^4 - 2x^3 - 4x^2 + 4x + 4 = 0$ on

- a) $[-2,-1]$ b) $[0,2]$ c) $[2,3]$ d) $[-1,0]$

False position method:

Is similar to the bisection method, (given an interval $[a,b]$ that bracket a root, assume that $f(a)f(b) < 0$), but where the midpoint is replaced

$$c = \frac{bf(a) - af(b)}{f(a) - f(b)}$$

The new interval, either $[a,c]$ or $[c,b]$, is chosen according to whether $f(a)f(c) < 0$ or $f(c)f(b) < 0$, respectively, and still brackets a root.

Method of false position algorithm:

Given interval $[a,b]$ such that $f(a)f(b) < 0$

For $i = 1, 2, 3, \dots$

$$c = \frac{bf(a) - af(b)}{f(a) - f(b)}$$

If $f(c) = 0$, stop, end

If $f(a)f(c) < 0$

$$b = c$$

Else

$$a = c$$

End

End

The method of false position at first appears to be an improvement on both

the bisection method and the secant method

Example:

Apply the method of false position on initial interval $[0,1]$ to find the root $r = 0$ of

$$f(x) = x^3 - 4x + 1$$

Solution:

Given $a=0$, $b=1$

$$f(x) = x^3 - 4x + 1$$

$$f(0) = 0^3 - 4(0) + 1 = 1$$

$$f(1) = (1)^3 - 4(1) + 1 = -2$$

$$f(0) f(1) < 0$$

The new point



Faculty Of Engineering & Architecture

$$c = \frac{bf(a) - af(b)}{f(a) - f(b)} = \frac{(0)(-2) - (1)(1)}{-2 - 1} = \frac{1}{3}$$

$$f(c) = f(1/3) = (1/3)^3 - 4(1/3) + 1 = -0.2963$$

n	a_n	b_n	c_n	$f(c_n)$
1	0	1	0.3333333	-0.296296
2	0	0.333333 3	0.257140 0	-0.00038552
3	0	0.25714 0	0.254200 0	- 0.00001254 6
4	0	0.25420 0	0.254101 8	- 0.00000041

				2
5	0	0.25410	0.254101	
		0	7	

Secant method:

The secant method is similar to the Newton’s method, but replaces the derivative by a difference quotient. Geometrically, the tangent line is replaced with a line through the two last known guesses. The intersection point of the “secant line” is the new guess.

An approximation for the derivative at the current guess x_i is the difference quotient

$$\frac{f(x_i) - f(x_{i-1})}{x_i - x_{i-1}}$$

A straight replacement of this approximation for $f'(x_i)$ in Newton's method yields the secant method

$$x_{i+1} = x_i - \frac{f(x_i)(x_i - x_{i-1})}{f(x_i) - f(x_{i-1})} \quad \text{for } i = 1, 2, 3, \dots$$

$x_0, x_1 =$ Initial guesses

Unlike fixed – point iteration and Newton's method, two starting guesses are needed to begin the secant method.

Example:

Apply the secant method with starting guesses $x_0 = 0$, $x_1 = 1$ to find the root of

$$f(x) = x^3 + x - 1$$

Solution:

The formula gives

$$x_{i+1} = x_i - \frac{(x_i^3 + x_i - 1)(x_i - x_{i-1})}{x_i^3 + x_i - (x_{i-1}^3 + x_{i-1})}$$

Starting with $x_0 = 0$ and $x_1 = 1$ we compute

$$x_2 = 1 - \frac{(1)(1-0)}{1+1-0} = \frac{1}{2}$$

$$x_3 = \frac{1}{2} - \frac{-\frac{3}{8}(1/2-1)}{-\frac{3}{8}-1} = \frac{7}{11}$$

Further iterates form the following table

i	x_i
0	0.0000000000000000 00
1	1.0000000000000000 00
2	0.5000000000000000 00
3	0.63636363636363 64
4	0.690052356020 94



Faculty Of Engineering & Architecture

5	0.682020419648 19
6	0.682325781409 89
7	0.682327804359 03
8	0.682327803828 02
9	0.682327803828 02